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Sixth Semester
Computer Science and Engineering

Scheme July 2009

NETWORK SECURITY  AND MANAGEMENT

Time : Three Hours Maximum Marks : 100

Note : i) Attempt total six questions. Question No. 1 (Objective type)
is compulsory. From the remaining questions attempt any five.

Hw$b N>… àíZ hb H$s{OE& àíZ H«$‘m§H$ 1 (dñVw{Zð> àH$ma H$m)
A{Zdm¶© h¡& eof àíZm| ‘| go {H$Ýht nm±M H$mo hb H$s{OE&

ii) In case of any doubt or dispute, the English version question
should be treated as final.

{H$gr ^r àH$ma Ho$ g§Xoh AWdm {ddmX H$s pñW{V ‘| A§J«oOr ^mfm Ho$
àíZ H$mo A§{V‘ ‘mZm Om¶oJm&

1. Choose the correct answer. 2 each

ghr CÎma H$m M¶Z H$s{OE&
i) WINS protocol work which port No.?

WINS àmoQ>moH$m°b {H$g nmoQ>© na H$m‘ H$aVm h¡?
(a) 53 (b) 110

(c) 137 (d) 138

ii) The full form of SNMP is ?
(a) Series Network Management Protocol
(b) Simple Network Management Protocol
(c) Secure Network Management Protocol
(d) Session Network Management Protocol

SNMP H$m nyam ê$n h¡&

(A) gr[aO ZoQ>dH©$ ‘¡ZoO‘|Q> àmoQ>moH$m°b

(~) qgnb ZoQ>dH©$ ‘¡ZoO‘|Q> àmoQ>moH$m°b

(g) gwa{jV ZoQ>dH©$ ‘¡ZoO‘|Q> àmoQ>moH$m°b

(X) goeZ ZoQ>dH©$ ‘¡ZoO‘|Q> àmoQ>moH$m°b
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iii) Internet Protocol (IP) works which layer?
(a) Data link layer (b) Network layer
(c) Transport layer (d) Session layer

B§Q>aZoQ> àmoQ>moH$m°b {H$g bo¶a na H$m¶© H$aVm h¡?

(A) S>oQ>m qbH$ bo¶a (~) ZoQ>dH©$ bo¶a

(g) Q´>m§gnmoQ>© bo¶a (X) goeZ bo¶a

iv) A session symmetric key between two parties is used
(a) Only once (b) Twice
(c) Multiple tunes (d) Depends on situation

EH$ goeZ {g‘o{Q´>H$ H$s H$m Cn¶moJ Xmo nmQ>uO Ho$ ‘Ü¶ hmoVm h¡

(A) Ho$db EH$ ~ma (~) Xmo ~ma

(g) H$B© ~ma (X) n[apñW{V na {Z ©̂a
v) Encryption and Decryption provides secrecy or confidentiality

but not :
(a) Authentication (b) Integrity
(c) Keys (d) Frames

B§{H«$ßeZ Am¡a {S>{H«$ßeZ gwajm Am¡a JmonZr¶Vm àXmZ H$aVo h¡& na Zht
H$aVo

(A) AWm§{Q>Ho$eZ (~) BÝQ>o{J«Q>r

(g) H$sO² (X) ’«o$‘

2. a) What do you mean by network security, also mention its
significance in modern age? 9

ZoQ>dH©$ {g³¶y[a{Q> go Amn ³¶m g‘PVo h¡, AmYw{ZH$ ¶wJ ‘| BgH$s
Cn¶mo{JVm Xem©BE&

b) What is symmetric Encryption? 9

{g‘o{Q´>H$ BpÝH«$ßeZ ³¶m h¡?

3. a) Describe SSL in details. 9

SSL H$mo {dñVma go g‘PmBE&
b) Write steps of Installing of DNS services. 9

DNS g[d©gog Ho$ B§ñQ>m°boeZ H$s ñQ>oßg {b{IE&
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4. a) What kind of security awareness are required for Information
system? 9

BÝ’$m‘}eZ {gñQ>‘ Ho$ {bE {H$VZo Vah H$s {g³¶y[a{Q> OmJê$H$Vm H$s
Amdí¶H$Vm h¡?

b) Explain about window NT operating system. 9

qdS>moO NT Am°naoqQ>J {gñQ>‘ Ho$ ~mao ‘§o g‘PmBE&

5. a) What is remote access service point to point protocol? Explain. 9

[a‘moQ> E³gog g{d©g ßdmB§Q> Qy> ßdmB§Q> àmoQ>moH$m°b ³¶m h¡? g‘PmB¶o&

b) Write difference between Plain text and Cipher text? 9

Plain text Am¡a Cipher text Ho$ ~rM A§Va {b{IE&

6. a) Describe SNMP trouble shooting? 9

SNMP Q´>~b eyqQ>J H$mo g‘PmBE&

b) Explain Hashing algorithm. 9

h¡qeJ EëJmo[aW‘ H$mo g‘PmBE&

7. a) Explain window NT networking architecture. 9

qdS>moO NT ZoQ>dH©$ Am{H©$Q>o³Ma H$mo g‘PmBE&

b) Explain SNMP registry process in detail? 9

SNMP a{OñQ´>r à{H«$¶m H$mo {dñVma go g‘PmBE&

8. a) Describe Route table. 9

Route Q>o~b H$mo g‘PmBE&

b) Explain the process of display current TCP/IP connection and
statistics by using netstart? 9

ZoQ>ñQ>mQ>© H$s ghm¶Vm go TCP/IP H$s dV©‘mZ H$Zo³eZ Ed§ gm§p»¶H$s
Xem©Zo dmbr à{H«$¶m H$mo g‘PmBE&
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